HOMEWORK SOLUTIONS MULTIVARIABLE CALCULUS
Section 14.5 - 6, 9, 11, 14, 23, 29, 34, 43
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14. By the Chain Rule (3), 2 '5;“ %%+ ?'i';: g_:
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43. Let = be the length of the first side of the triangle and y the length of the second side. The area A of the triangle is given by

A= Tl,:ry sin  where & 15 the angle between the two sides. Thus A is a function of z, y, and &, and =, , and & are each in turn
dr dy . dA )

functions of time £. We are given that rie 3= i —2, and because A 15 constant, == 0. By the Chain Rule,
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Solving for — ves — 50 the angle between the sides 15 decreasing at a rate of
= ai o _1_.-'- _V,- 2 L

1/(12 /) = 0.048 rad/s.



